Chapter 3: The Nervous System

100 MCQs
1.

Which of the following is NOT a reason for studying the nervous system?

A.

The more we learn about how it operates, the better we can understand how it can go wrong

B.

It can help us learn how to prevent or reverse psychological disorders

C.

Lack of understanding confines us to observers of the effects of dysfunction

D.

It is vitally important for conducting all of psychological research

2. 

Which of the following is NOT the case in relation to the nervous system?

A.

We can study behaviour and thought without necessarily knowing anything at all about the nervous system.

B.

Neurons are very much a minority group of cells in the brain.

C. 

Our interactions with the world around us depend crucially on the activity of the nervous system. 

D.

The only generally available palliatives for conditions like Parkinson’s disease or schizophrenia are behavioural treatments.

3.

Imagine you are playing tennis. Which of the following INCORRECTLY describes what might be happening in your nervous system?

A.

As you wait to receive the ball, your body posture is continually monitored and adjusted by a combination of proprioceptive information, information from your inner ear and auditory information.

B.

Your strategic planning and your ability to concentrate on limited, key aspects of your surroundings require frontal lobe function.

C.

Your feelings of excitement and emotion result partly from the effects of hormones secreted into your bloodstream, in response to instructions originating in your brain.

D.

Your memory systems lay down records of what is happening, as well as recalling the information you had already stored about your opponent’s strengths and weaknesses, and recognizing familiar tactical situations.

4.

If you lose your proprioceptive sense, then _____.

A.

You lose the ability to recognize faces

B.

You start to taste colours

C.

You are unable to control your movements

D.

Sounds do not make sense to you

5.

True or False: A great deal of what we know about brains comes from the study of patients with damage to specific areas of the brain.

6.

Which of the following is TRUE of the central nervous system?

A.

The central nervous system is comprised of nerves throughout the body

B.

The brain and the spinal cord make up the primary components

C.

It is a system devoted purely to motor output

D.

You have to be in active control of the central nervous system, or else you will lose control of basic motor functions

7.

Which of the following lets you know that you have hit your funny bone?

A.

Axons

B.

Efferent nerves

C.

Afferent nerves

D.

Synaptic cleft

8. 

Which of the following statements about the neuron are true? (Please highlight all correct answers.)

A.

The basic unit of the whole of the nervous system is the neuron.

B.

Neurons operate alongside various other types of cells, whose activity is essential to normal neuronal function.

C.

About 60 per cent of the cells in the brain are neurons.

D.

Glial cells comprise astrocytes, oligodendrocytes, microglia and epidermal cells.

9.

Glial cells were once thought of as the structural glue that holds the neurons in place, but their roles are proving to be far more complex. Which of the following descriptions of the various aspects of glial cells do we know to be true? (Please highlight all correct answers.)

A.

Astroctyes provide physical support to the neurons.

B.

Astrocytes help to regulate the chemical content of the fluid that surrounds the neurons.

C.

Synapses wrap closely around astrocytes.

D.

The synaptic cleft is the gap between neurons and glial cells.

10.

A _____ is NOT a glial cell.

A.

Dendrite

B.

Astrocyte

C.

Oligodendrocyte

D.

Ependymal

11.

The three essential components of a neuron are all of the following except _____.

A.

Dendrites

B.

Axon

C.

White matter

D.

Cell body

12.

True or False: Neurons have a single axon that makes contact with other cells by branching out towards the end.

13. 

In the peripheral nervous system, which of the following is NOT the case?

A.

Peripheral nerves are just bundles of axons. 

B.

There are clusters of neuronal cell bodies located in the peripheral nervous system.

C.

The sensory division of the peripheral system deals with inputs. The motor division deals with outputs. 

D.

The autonomic nervous system is the manager of your external environment.

14.

Which of the following is an accurate description of the peripheral nervous system?

A.

Peripheral nerves appear as white matter because axons are white

B.

The peripheral nerves are simply bundles of axons

C.

The myelin sheath incases the cell body of the peripheral nerves

D.

There are only clusters of cells in the central nervous system

15.

The peripheral nervous system is composed of autonomic and somatic nerves. Which of the following is FALSE?

A.

Input from neurotransmitters comes from interneurons

B.

The somatic nervous system includes the sensory and motor nerves

C.

The somatic nervous system causes muscles to contract or relax

D.

The autonomic nervous system governs blood flow and sweating

16. 

Which of the following do we know to be the case in the autonomic nervous system?

A.

The autonomic nervous system is divided into two further nervous systems, which have essentially opposite functions.

B.

The sympathetic nervous system prepares you for emergency action.

C.

The parasympathetic system calms you down.

D.

All of the above.

17.

Which of the behaviours would the parasympathetic nervous system prepare you for?

A.

Jumping out of the way of a car

B.

Getting over excited over meeting Johnny Depp

C.

Taking a much needed nap after exams

D.

Asking the neighbours to turn down their music

18.

Which of the following is not an example of an outcome caused by the parasympathetic nervous system?

A.

Slowing heart rate

B.

Increases of blood flow to the gut

C.

Stimulates rectum

D.

Relaxes airways

19.

Which of the following behaviours would the sympathetic nervous system NOT prepare you for?

A.

Eating a large meal at your favourite restaurant

B.

Waking up in the morning after the alarm goes off

C.

Running away from a gang of bullies

D.

Stopping and fighting with your mother about coming home late

20.

Which of the following is an example of an outcome caused by the parasympathetic nervous system?

A.

Redirects blood from the skin to the muscles

B.

Constricts pupils

C.

Stimulates salivation

D.

Stimulates urinary bladder

21.

Which of the following statements about the central nervous system is FALSE?

A.

The cerebellum plays a key role in making movement smooth and efficient

B.

The spinal cord is only used to relay information back and forth from the brain

C.

Mammalian brains are made into two halves

D.

You can withdraw your hand from a fire before the information reaches the brain

22.

Which of the following statements about the brain is FALSE?

A.

The cortex is the multi-layered outside of the brain

B.

The subcortical structures relay sensory information to the cortex, and motor information to the peripheral nervous system

C.

Cell bodies are only found in clusters, or nuclei

D.

Clusters of nuclei form grey matter, because of the grey cell bodies

23.

Which of the following statements about the brain is FALSE?

A.

The brain is a cognitive sandwich, with sensory motor information as bread and cognition as the filling

B.

Sensory and motor systems are interactive, and can modify each other

C.

Sensory and motor systems do not need to go through a cognitive intermediary in order to act

D.

The brain sits on top of the spinal cord like a walnut on a stick

24. 

Identify the one accurate statement relating to the regions of the brain, from those given below:

A.

The substantia nigra, which is the critical area lost in Alzheimer’s disease patients, is located in the midbrain.

B.

The medulla includes some of the nuclei that seem to be important in sleep and arousal.

C.

The pons contains nuclei that control basic functions like breathing and heart rate.

D. 

Specific nuclei of the thalamus are involved in important functional capacities, such as memory.

25.

The brain stem is comprised of all of the following, except:

A.

Medulla

B.

Pons

C.

Hypothalamus

D.

Cerebellum

26.

Which of the following is NOT a function of the brain stem?

A.

Heart rate

B.

Respiration

C.

Relay information between cerebrum and cerebellum

D.

Connecting the right and left hemisphere

27.

Which of the following statements concerning sensory communication and motivation are INCORRECT? (Please highlight all incorrect answers.)

A.

Damage to any part of the hypothalamus can lead to obesity.

B.

The hypothalamus controls aspects of hormonal function.

C.

Pituitary hormones can control hormone release from other endocrine glands.

D.

The brain and the endocrine system never interact.

28.

Which statement about the hypothalamus or thalamus is INCORRECT?

A.

The thalamus is an exclusively sensory-processing structure

B.

Damage to the hypothalamus can lead to fatal under-eating

C.

The thalamus is involved with memory

D.

The hypothalamus keeps the internal system stable

29.

Which of the following assertions about various parts of the brain is INACCURATE?

A.

Crucial sensory system nuclei are located in the basal ganglia.

B.

The hippocampus is crucial for normal memory function.

C.

The amygdala plays a key role in aspects of emotion, especially fear. 

D.

The neocortex has specialized motor areas and sensory-processing areas.

30.

True or False: Humans with amygdalar damage cannot recognize facial expression of fear and anger.

31.

Which of the following translations is INCORRECT?

A.

Substantia nigra means ‘black substance’

B.

Hippocampus means ‘large grey blob’

C.

Amygdala means ‘almond’

D.

Cortex means ‘bark’

32.

Which of the following is NOT usually the case in prosopagnosia?

A.

Visual acuity may be good, but the patient cannot recognize familiar faces. 

B.

Patients are unable to recognize friends by the way they walk.

C.

Patients can typically identify familiar individuals from their voices.

D.

The skin conductance response can discriminate between familiar and unfamiliar faces.

33.

True or False: In the visual system separate modules for colour, form and motion slow down visual processing by transmitting the information separately along different axons.

34.

It is INCORRECT to say that _____.

A.

The cortex plays an important role in high-level processing

B.

The cortex is the most complex structure in the brain

C.

The cortex evolved later than other structures

D.

The cortex is the most important structure in the brain

35.

Which of the following is NOT a technique used to study the different functions of the brain?

A.

Experimental studies of monkeys

B.

Neuropsychological studies of clinical patients

C.

Programmed electrical stimulation

D.

Functional neuro-imaging

36.

Which statement concerning the evolution of the brain is FALSE?

A.

The neocortex developed in layers

B.

New modules of the neocortex developed in succession, which avoids a need to ‘reorganize’

C.

Developing cells next to primary interactive cells minimizes inter-cell communication

D.

The brain developed by growing larger

37. 

Which of the following facts do we know to be true of the human brain? (Please highlight all true answers.)

A.

All brains develop by growing larger.

B.

The neocortex is made up of two layers of cells. 

C.

Of the wrinkles in the brain, a sulcus is a valley where the cortex is folded inwards, and a gyrus is a ridge.

D.

All inputs and outputs share the same layer of the neocortex.

38.

Which of the following describes the purpose of the sulcus and gyrus?

A.

Wrinkles in the brain enable maximum cortical area with minimum volume

B.

The sulcus are connected to outgoing neurons, while gyrus are connected to incoming neurons

C.

The gyrus are connected to outgoing neurons, while sulcus are connected to incoming neurons

D.

The inward wrinkles are engaged with the sympathetic nervous system and the outward wrinkles are engaged with the parasympathetic nervous system

39.

Which statement about the brain is FALSE?

A.

The neurons that make up the brain are the same as other animals

B.

Brain size does not correlate with body size

C.

If you flatten out a human cortex it would cover about 4 pages of A4 paper

D.

Our enlarged brains may provide extra processing facilities that support abstract thought

40. 

When we think about the size of the brain, which one of the following do we know to be true?

A.

Large animals are more intelligent than smaller ones. 

B.

The behavioural flexibility of rats is due to the fact that they are herbivorous. 

C.

The human brain is disproportionately large for our body weight, compared with other primates.

D.

The cerebellum is smaller than one might expect in humans, compared with our primate relatives. 

41. 

Identify the correct statement regarding the two halves of our brain:

A.

The two halves of our brains mediate the same cognitive sub-processes. 

B.

In Wernicke’s aphasia, patients are unable to speak, although they are quite capable of understanding spoken language.

C.

In most humans, language processing takes place in the right hemisphere. 

D.

Damage on the left side of the brain can leave people unable to speak, though quite capable of understanding spoken language.

42.

True or False: Broca’s aphasia leaves people unable to speak but capable of understanding, while Wernicke’s aphasia leaves people able to speak, but what they say makes no sense.

43.

True or False: Hemi-neglect usually results from damage to the left-occipital lobe.

44. 

Which of the following is NOT usually the case in a patient with hemi-neglect?

A.

When trying to fill in the numbers on a clock face, s/he may write the numbers 1 to 12 in the correct order but places them all on the right-hand side of the circle.

B.

When presented with a paper that has a large number of short lines on it and asked to cross off each of the lines, s/he may cross off all the lines on the right half of the sheet, leaving the lines on the left side untouched. 

C.

S/he may show hemi-neglect for visual scenes that they are asked to imagine.

D.

His/her hemispatial neglect is usually due to a primary visual defect.

45.

Why is neglect of the right-handed side of the world rarer than its opposite?

A.

The left hemisphere of the brain is able to support bilateral spatial attentional processes

B.

The right hemisphere of the brain is able to support unilateral spatial attentional processes

C.

The right hemisphere is able to take over processes that would normally be done by the left

D.

The right hemisphere has a specialized allocation to language processing

46. 

Which is correct?

A.

The two cerebral hemispheres of the brain are joined together below the surface by the corpus callosum, a massive fibre pathway.

B.

A split brain patient may have had his/her corpus callosum cut to stop the spread of epileptic seizures.

C.

Both (a) and (b).

D.

Neither (a) nor (b).

47.

Which is NOT an example of a consequence of split brain damage?

A.

They can not read a word that is shown to the right hemisphere

B.

If the word “ball” is seen with the left eye a person can pick up the ball with their left hand

C.

They can read a word that is shown to their left hemisphere

D.

If a word is shown to the right hemisphere the can pick up the ball with their right hand

48.

Which of the following is TRUE in relation to looking at neurons?

A.

Early attempts were able to stain the cell bodies, axons and dendrites

B.

Golgi’s technique was remarkably perfect right away and allowed scientists to view the morphology of cells every time

C.

Early stains clearly showed that there were different types of cells

D. 

When a cell was incorrectly stained it could look completely black, and no cells would be distinguishable

49. 

Which of the following is NOT true, in relation to looking at neurons?

A.

Until the twentieth century, we really had no idea what neurons looked like.

B.

Golgi’s cell staining method enabled the structure of a single neuron to be seen clearly through a microscope. 

C.

Golgi’s cell staining method was developed largely by accident.

D.

We can discover where each neuron’s incoming connections originate, and where their own outputs go, by injecting anatomical tracers. 

50.

Which is NOT a reason that Golgi’s technique was helpful?

A.

It allowed researchers to draw correct representations of the cell

B.

It showed researchers that neurons have cell bodies

C.

It permitted researchers to compare different cells in different parts of the body

D.

It distinguished neurons from other cells by demonstrating that neurons had axons and dendrites

51.

Which statement about present day techniques for observing neurons is FALSE?

A.

Today we can inject a dye directly into a single cell, successfully isolating it

B.

We can combine the dying of a cell with recording the activity of the cell

C.

It is difficult to establish the relationship between the form and function of a cell

D.

Tracers allow us to determine how neurons interact

52.

True or False: The neuron doctrine, proposed by Ramon y Cajal, proposes that the nervous system is one large system of very few and specific nerve cells

53.

What does the statement neurons are integrators mean?

A.

Neurons can have a vast number of different inputs, but what they produce is a single output

B.

Neurons transmit their output to a variety of different targets after each input

C.

Neurons receive one single input, which they transform into a variety of different outputs

D.

Neurons receive a single input, and produce a single output

54.

Neurotransmitters are __________.

A.

Not chemical messengers used for communication

B.

Not specialized and can be released and received from any site

C.

Not released from sites at the axon terminal

D.

Not able to affect receptor cites across the synaptic cleft

55.

True or False: Your brain is only 2.5% of your body weight, but uses 20% of your resting energy.

56.

Which statement concerning the amount of energy your brain uses is TRUE?

A.

The amount of energy your brain uses increases when the nervous system is actively processing signals

B.

When a region increases its energy use its need for a blood supply decreases

C.

Change in energy and blood levels can not be detected by neuro-imaging systems

D.

Blood changes do not tell us anything about which parts of the brain are activated during mental processes

57.

Which description of a neuron is false?

A.

The outside of the neuron is made of a membrane

B.

The inside of the neuron is filled with positively charged molecules

C.

The protein molecules inside an electron are too big to leak through the membrane

D.

The outside of the neuron contains fluid with electrically charged ions

58.

Which does NOT occur when equilibrium is reached between the inside and outside of the neuron?

A.

The inside of the neuron is more positive than the outside

B.

The concentration gradient and electrical gradient balance each other out

C.

There is active pumping of ions across the membranes

D.

The neuron reaches its resting potential

59.

True or False: The ion channel is the gap between two neurons.

.

60.

When an ion channel in a neuron is opened ______.

A.

The resting potential keeps the inside of the cell negatively charged

B.

Negative ions are attracted into the cell

C.

There is an attracting concentration gradient for the chemical that is prevalent outside of the cell

D.

The cell is depolarized

61. 

Which is true? In the action potential:

A.

When a neuron is activated by its input, the potential across the cell membrane stays the same.

B.

The action potential is initiated when a neurotransmitter binds to its receptor and closes certain channels.

C.

The strength of the depolarizing stimulus determines the size of the action potential.

D.

If the cell is depolarized from its resting potential to its threshold potential, an abrupt change is seen.

62.

Which is NOT part of the process after a neuron has reached its action potential?

A.

The neuron becomes hyperpolarized

B.

The inside of the neuron becomes even more positively charged than usual

C.

The neuron enters the refractory period

D.

A single, relatively small, stimulation pulse can produce a radical change in the neurons electrical state

63.

True or False: The action potential is larger when the depolarizing stimulus is well beyond the threshold potential.

64.

Which of the following is NOT a benefit of the all-or-nothing action potential?

A.

The action potential travels more rapidly along the cell’s axons

B.

All-or-nothing makes the action potential very effective and reliable

C.

The action potential does not weaken as it moves throughout the entire body

D.

The result is very clear and not subtly graded

65.

True or False: Neurons communicate through electrical circuits. Each neuron connects to the next and current flows uninterrupted through all of them.

66.

Which of the following is NOT an advantage of gap junctions?

A.

Everything that happens to one neuron happens to all neurons 

B.

The action potential is passed on at the maximum possible speed

C.

Activity amongst groups of neurons is more easily synchronized

D.

Allows direct flow of electrical current between two neurons

67.

Identify the FALSE statement regarding neurotransmission:

A.

Communication between neurons typically relies on gap junctions.

B.

Chemical neurotransmission ensures that neurons are kept independent and that information flows in the right direction.

C.

Chemical neurotransmission takes place at the synapse, across a very narrow gap called the synaptic cleft

D.

When an action potential reaches the axon terminal, some vesicles fuse with the external cell membrane of the neuron. 

68.

Which is part of the process to transmit neurotransmitters?

A.

The neurotransmitter is released from the synaptic cleft

B.

The neurotransmitter crosses the axon

C.

The neurotransmitter binds to specialized receptors in the membrane of the target neuron

D.

The neurotransmitter is stored in dendrites as it awaits release

69.

True or False: The larger the chemical messenger, the faster the chemical neurotransmission.

70.

Which is NOT an event that must occur after a neurotransmitter has been released?

A.

More of the transmitter chemical is synthesized

B.

New transmitters are transported along the axon to the terminal region

C.

Proteins attack anything left in the synaptic cleft

D.

The effects of the neurotransmitter in the target cell are turned off

71.

True or False: If a neurotransmitter is not deactivated then a single output could depolarize forever.

72. 

Which of the following is NOT true?

A.

Neurons’ output signals are all-or-nothing action potentials

B.

Neurons’ outputs control their targets in an all-or-nothing way.

C.

A neuron must be depolarized beyond its threshold to generate an action potential. d) Input axons typically connect to target dendrites. 

73.

In regards to dendrites, which of the following is FALSE?

A.

Dendritic trees can have as many as 100,000 synapses on them

B.

At any given moment any of those synapses can be active or inactive

C.

Each active synapse will, to some extent, depolarize the target cell membrane

D.

Even if the synapse causes even a slight depolarization, the target cell will activate

74.

Which of the following will NOT disrupt a neurotransmitter mechanism?

A.

Manipulating the receptor

B.

Altering the genetic sequencing

C.

Changing the transmitter release system

D.

Affecting the transmitter inactivation mechanisms

75.

Curare: (please highlight all correct answers)

A.

Depolarizes muscles.

B.

Is an antagonist.

C.

Prevents acetylcholine released from motor nerves from reaching its intended target.

D.

Results in loss of movement.

76. 

Select the correct statement relating to agonists:

A.

Neurotransmitter agonists are less dangerous than antagonists.

B.

Nicotine is a very widely used nigrostriatal receptor agonist. 

C.

Amphetamine is a dopamine agonist, which reduces dopamine release. 

D.

Parkinson’s disease can be treated with a direct dopamine agonist.

77.

Which of the following is NOT an example of an antagonist?

A.

Botulinus toxin blocks acetylcholine release

B.

Haloperidol prevents dopamine from entering the synaptic cleft

C.

Amphetamines increase dopamine release

D.

Curare binds to acetylcholine and prevents reuptake

An antagonist prevents or reduces the normal effect of a neurotransmitter by preventing it from being released into the synaptic cleft, or being accepted by the target neuron. Therefore, botulinus, haloperidol, and curare are all examples of antagonists preventing the effect of the neurotransmitter. Amphetamines are agonists and increase the release of dopamine.

78. 

Which of the following is NOT true with regard to preventing neurotransmitter deactivation?

A.

Disrupting deactivation mechanisms will increase neurotransmitters’ effects in the synapse.

B.

Cholinesterase inhibitors work by enhancing deactivation mechanisms.

C.

The direct acetylcholine agonist, nicotine, and the cholinesterase inhibitors are both synthesized by plants. 

D.

Psychiatrists have for many years used monoamine oxidase inhibitors to treat depression.

79.

Inhibitory neurotransmission ________.

A.

Reduces the excitability of a cell

B.

Can increase the level of firing if a cell is already firing at a constant rate

C.

Can make the cell reach its action potential, if a cell is quiescent

D.

Increases the positive ions in a cell

80.

Which is NOT an example of an inhibitory neurotransmitter?

A.

Valium increases chloride, a negative ion, in a cell

B.

Strychnine blocks glycine-dependent inhibitory interneurons

C.

Alcohol causes the GABAA channel to remain open longer

D.

GHB (commonly known as the rape drug) hyperpolarize neurons

81.

True or False: Inhibitory neurotransmitters inhibit thought or action.

82. 

Neurotransmission is made up of a whole wealth of further intricacies. But which of the following is NOT the case?

A.

Some axons have receptors for their own neurotransmitter, known as autoreceptors.

B.

Extra-synaptic routes for chemical communication are sometimes called paracrine systems.

C.

Some non-classical neurotransmitter substances have longer-lasting actions and act at greater distances than conventional neurotransmitters.

D.

Cholecystokinin (CCK) is a peptide released as a hormone by the duodenum, but is also released like a neurotransmitter from cholinergic neurons in the brain.

83.

Hormones _____.

A.

Affect neuronal function in a similar way to neuromodulators

B.

Are released into the blood stream by neurons in the peripheral system

C.

Have no affect on the central nervous system

D.

Do not alter the release of neurotransmitters

84. 

Which of these apply to long-term potentiation (LTP)? LTP: (please highlight all correct answers)

A.

Has led researchers to present it as a possible neural basis for some forms of learning.

B.

Has led researchers to present it as a possible neural basis for the ability to lay down new memories.

C.

Is unlikely to reflect experience-dependent changes in neuronal functioning.
D.

Describes an opposite neuronal response to that of LTD.

85.

Which of the following is NOT an example of LTP (Long-term potentiation)?

A.

Sensitization produced by painful stimuli

B.

Perceptual development in the visual cortex

C.

Laying down of memory traces in the brain

D.

Reduction in a target’s neuron’s response

86.

True or False: Our brain changes in accordance with our experience.

87.

The blocking receptors in the hippocampus lead to what LTP (long-term potentiation) response?

A.

Causes pathological over-eating

B.

Damages kidney function

C.

Prevents normal operation of spatial memory

D.

Reduces emotional processing

88. 

One of the following statements about neonatal brain development is INCORRECT. But which one? 

A.

When mammals are born, the narrow birth canal places a practical limit on neonatal head size.

B.

Further brain development can take place after birth.

C.

The adult brain is around twice the size of a newborn baby’s brain.

D.

Although born early, the newborn kangaroo continues to develop in its mother’s pouch until it is capable of independent movement.

89.

Which of the following is true of human development?

A.

The first sign of what will become the brain appears very early in human gestation; by the end of the tenth week, a neural plate made up of precursor neurons can be identified.

B.

Like other parts of the body, the brain develops when cells migrate to the appropriate place.

C.

By the end of the sixth month, a primitive brain has already formed.

D.

Successful neurons die, through a process of programmed cell death, called apoptosis.

90.

Brain development is inhibited by the following, EXCEPT:

A.

The size of the birth canal

B.

Listening to music neo-natally

C.

Lack of parental care

D.

Environmental necessity

91. 

Identify the FALSE statement from the four given below:

A.

The eventual wiring of the adult brain in part reflects experiences during the long period of brain development that takes place after birth. 

B.

Once the mammalian brain is fully developed, the capacity to form new neurons is drastically reduced.

C.

In both the central and peripheral nervous systems, regeneration occurs regularly after injury.

D.

Covering one eye during infant development can distort visual connections, leading to persistent impairment of adult vision that depends on that eye. 

92.

In order to develop a proper brain ____ is NOT necessary.

A.

Cells knowing how to differentiate into the right kind of cells

B.

Cells properly stopping the differentiation process

C.

Cells staying where they are formed

D.

Cells being properly competitive

93.

Identify the TRUE statement from the four given below.

A.

Schwann cells form cylindrical guides along the original path of the axon

B.

In the central nervous system cells can secrete a variety of bioactive substances for regeneration

C.

Cell regeneration is slowed when new axons enter the guide tube

D.

Axons lying beyond the damage are left and can cause problems

94.

True or False: One advantage of the central nervous system is that new axons from remaining inputs will ‘colonize’ damaged areas.

95.

Which cells can NOT be transplanted to produce regeneration in the central nervous system?

A.

A new supply of the missing neurons

B.

Peripheral neurons from any part of the body

C.

Dopamine cell bodies in the dopamine structure

D.

Neuronal stem cells

96. 

Which, if any, of the statements given below regarding brain regeneration in humans and birds, is INCORRECT?

A.

In humans, hippocampal damage leads to such a profound amnesia that the patient is more or less incapable of living an independent life.

B.

Some birds appear not to need a fully developed hippocampus all of the time.

C.

The hippocampus shrinks and regrows seasonally in some mammals.

D.

None of the above – all are correct.

97.

True or False: London taxi drivers have a larger posterior hippocampus, increasing their memory for London streets, than age-matched controls.

98.

Which of the following is FALSE?

A.

The brain can solve immensely difficult computational problems

B.

The brain contains 100 billion neurons

C.

There are many different kinds of neurons that have there own responsiveness subtly adjusted by the chemical outputs received

D.

The modern computer can out process the human brain

99. 

Which are true? The brain: (please highlight all correct answers)

A.

Allows us to judge distances and identify objects.

B.

Enables us to walk through complex environments relying solely on vision to guide us.
C.

No longer has the capacity of current computers.

D.

Is able to solve complex problems of visual geometry so rapidly because of its parallel processing capacity.

100. 

Identify the correct statement from those given below, with respect to visual processing modules:

A.

Visual processing modules are entirely independent from each other. 

B.

A uniformly coloured, curved surface, lit from above, may emit different wavelengths of light from different points on the surface.

C.

In the visual system, form and reflectance need to be solved separately. 

D.

Parallel processing provides us with a comprehensive explanation of how the brain solves the problem of visual processing.

